Amplitude Workshect
Take Amplitude of Sun on the wings:.....................................
Stop Watch................................. 

Position & Time
DR Latitude…………………..Longitude………………………Long/15=ZD (+W-E}…………………………….

Day................ 
Date.............. .....(AT AZ) Loc.Time................................ZD.................... 


GMT.....................................
stop watch............................ 
=Corr. GMT..................................... 

Day................. 
Date...................... 
(At GMT)

NAUTICAL ALMANAC:

DEC..............................................

cor+ or-.........................................

Dec...............................................

TABLE27
[Use complete arguments not assumed... to nearest degree as opposed to sight reduction method

LAT.....................................DEC...........................................                                                                                                                

                                                                                                                 T............................

Base Z.................................    .............................................                    V...........................                                                                                                                                                      

Next Z .................................    ...........................................                      M...........................                                                                       

d.........................................     d...........................                                    D............................                                                                                                 

x inc ...................................     x inc....................................                      C............................

/ int ....................................     /  int....................................                        {at weddings}     

Corr...................................     Corr.....................................


Total Corr......................+ BASE............................[+ 90 or +270] =Amp T................................. 

Table 28

(same as amplitude taken on wing ) CompassBearing...........................

LAT......................................DEC...........................................

Base Z................................       .............................................

NextZ.................................       .............................................

d.........................................      d...........................                                                                                                                                

x inc ...................................      x inc....................................                      

/ int ....................................      /  int....................................                       

Corr...................................      Corr.....................................

Total corrections + or- ............+ Base..........
+ Compass Bearing of Sun = C ....................

ANS = Gyro Error....................." Cross out V, M & D"...Gyro has nothing to do with magnatism

ANS= Deviation.......................
" If correcting a Magnetic Compass .........useV, M & D

